Economics 330 (Kelly)

Spring 2001

Answers to Practice Questions #5

Disclaimers:

(1) We are not responsible for errors or inconsistencies in these answers.

(2) These answers may be neither comprehensive nor complete, i.e., they are hot necessarily sufficient exam answers.  They are intended only to be a guide for your potential responses.
True/False/Uncertain:

1. Both Keynesians and monetarists believe that an increase in government expenditures is offset by a decrease in private spending.

TRUE:  However, they disagree to the extent that crowding out occurs.  In particular, monetarists believe that increased government expenditures are completely offset by decreases in private sector expenditures.

2. The more flexible are wages, the less effective are both fiscal and monetary policy in increasing output.

TRUE:  The length of the “long run” depends on the degree of wage rigidity.  The more quickly the costs of factors of production adjust, the more quickly we attain the LRAS curve.  Neither monetary nor fiscal policies shift the LRAS (directly).

3. If the domestic currency depreciates, output increases in the long run.

UNCERTAIN:  If production involves a large quantity of foreign factors of production, the increase in Y from increased net exports could be offset by the decrease in Y from a resultant leftward shift of AS.  Basically, depreciation of currency makes all imports, including factors of production, more expensive.

4. It is impossible to sustain output beyond the natural rate level of output.

TRUE:  In the short run, output can exceed Yn, however ultimately prices adjust to reduce AS and return the economy to the long-run natural rate.

5. A negative supply shock has no long-run effect on prices or output.

UNCERTAIN:  The statement is true as long as the supply shock does not affect productive capacity (i.e., technology or the capital stock).  In the short run prices increase and output decreases.  In the long run wages and prices adjust to increase employment and reduce production costs – the AS curve shifts back to the original LRAS curve.

6. Monetarists think the long run is longer than the Keynesians do.

FALSE:  Monetarists think that prices/wages are highly flexible.  Keynesians think that the LR is a long time; consequently Keynesians take the activist stance that fluctuations in prices and output should be offset by policy.

7. Changes in the money supply cause changes in output.

UNCERTAIN:  First, this depends on your view of money demand.  Generally, though, changes in money supply do affect Y.  However, the direction of causation in practice is not at all obvious.  One can justify that output growth leads money supply growth.  See Ch. 25 for a complete explanation.

8. If an economy is in a liquidity trap, further reducing the interest rate will have no effect on the economy.

FALSE:  A change in interest rates may not change investment or consumer durable goods expenditures, however it can still affect net exports and AS via currency depreciation.  There are also numerous potential credit channel effects.

9. If there is price deflation, low nominal interest rates indicate that the cost of borrowing is low.

FALSE:  If (e<0, then r=i-(e>i.  Low nominal interest rates are consistent with high real rates.

10. The cost of financing investment is related only to interest rates; therefore, the only way that monetary policy can affect investment spending is through its effects on interest rates.

FALSE:  

· Can affect direct investment via exchange rates

· Can affect banks’ propensity to lend

i. bank lending channel

ii. adverse selection and moral hazard effects

iii. cash flow channel

· affect balance sheet/liquidity

i. stock prices can change, affecting Tobin’s q, thereby affecting investment spending

11. Only sustained growth of the money supply can cause inflation in the long run.

TRUE:  The only way you can cause LR inflation is through continued shifts in AD.  The only way you can have sustained increases in AD is through an increase in the money supply.

12. Cost-push inflation cannot occur without accommodating monetary policy.

TRUE:  See p. 674 in text.

13. Inflation does not result from government budget deficits.

UNCERTAIN:  Inflation cannot occur without monetization.  Even if monetization does occur, inflation will still not occur if perfect Ricardian equivalence holds.

Other Questions:

1. Suppose that Alan Greenspan’s successor is an inflation ‘dove’, and consequently the public’s expectations of future inflation increase.  What will happen to aggregate output and the price level in the short run?

If expectations about policy affect the wage and price-setting processes, workers and firms are likely to push up wages and prices because they know that the Fed will be accommodating if any unemployment occurs.  This increase in factor prices shifts the AS left, increasing the price level and reducing output in the SR.

2. Compare the classical and expanded AD-AS models on the following grounds: (1) full employment, (2) the importance of AD, (3) the efficacy of monetary policy, (4) the efficacy of fiscal policy, (5) the importance of AS, and (6) causes of inflation.

· Full employment

· Classical: full employment prevails

· Expanded: full employment is a long run outcome… prices are sticky

· Importance of AD

· Classical:  AD has no real effects, money is a “veil,” fiscal policy is powerless, only money matters

· Expanded: AD has real effects in the short run, but not in the long run

· Efficacy of monetary and fiscal policies

· Classical: no policies are very effective, but fiscal policy is totally ineffective

· Expanded: monetary policy ineffective, fiscal policy effective in SR

· Importance of AS

· Both: supply is the key to economic growth

· Causes of inflation

· Classical: inflation comes from too much money

· Expanded: anything that causes AD to grow more rapidly than AS causes inflation

3. Discuss the role the following prices play in transmitting monetary effects onto the economy: interest rates (i.e., bond prices), exchange rates, equity prices.  How do the monetarists and Keynesians differ in their views on the importance of these prices?

See pages 648-653 in the text.  Basically, Keynesians believe that only the interest rate is important; they claim that money demand is highly sensitive to changes in interest rates.  Monetarists think that all of the above rates are important, but that money demand is insensitive to changes in interest rates.

4. Discuss the role of credit market imperfections in the transmission of monetary policy.

See pages 654-658 in the text.

